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Note: Answer From Both the Section as Directed. The Figures in the right-hand margin indicate marks.

Tqvg / Section-A
1 fr=fafEaT awgs wedl & Sar AR
Answer the following objective type questions: 1x10
(a) v=ifde wea & FAT wAveH e e gy e T ?
First of all which authors uses the word “demography”?
(i) o RRR Levasseur (i) aft € &€ Achille Guillard
(iii) emgw  Thompson (iv)ygrF s|mR &t Von Mayer, G
(b) 7 A wfem & 3R | wRa & fwg § wmE &
The place of India at present in the world in view of population is:
(1) weem First (ii) $81 Second (iii) T Third (iv) =em Fourth
(c) srree gf fagia o fRd=mr fran o 2
Who has discussed the population growth theory ?
(i) & @i Henry George (ii) v 81 L. Brento
(iii) o g Arsene Dumo (iv) 8 oMfdwd= Harvey Leivenstein
(d) s wEEm Rigi smiRa 2 Optimum population theory is based on:
(i) safer gfg = ww Law of increasing returns
(i) safed g @9 W) Law of decreasing returns
(iii) Scufey w@ar 79 v Law of constant returns
(iv) 39 9 oIg T None of the above
(€) IO 2011 @ IER 9Ra ¥ oo (7 s9R qHat R AReg) o ?
The sex ratio (male — female ratio per thousand) in India according to
censure 2011 was,
(i) 927 (i) 933 (1ii) 940 (iv) 934
() 771 efverar &1 woifdg @< are o 2 The elements that affect fertility are:
(i) 98 =R  Educational status (i) 3 wx Economic status
(ili) wedwwor  Urbanisation (iv)Swem w1 All of the above
(g)ﬂﬂ?{g%ﬁ?ﬂmﬁmmaﬁaﬁwmﬁaﬁmaﬂmvﬂmmﬁw
Ry &7
In which state of India the census of deaths has been done for the first time on
the basis of census.
(i) Swwew  Uttarpradesh (i) @%@ Kerala
(iii) #afes  Karnataka (iv) o Gujrat
(h) 7g =X &1 491 & g FR—F @ A & warr fear s 2
Which method is used for measurement of death rate.
(1) oy faftre g &v Age specific death rate (ii) Rrg] 90 &% Infant mortality rate
(iii) wrdiga geg =¥ Standardised death rate (iv) SwWiga |94 All the above




(i) o § wRaR Faem sriwe "o o @ 2
The family planning programme is running in India on.
(i) WRe® amur w® The basis of will (ii) sifad smeR w Mandatory basis
(iii) SR €1 MR W Both of the above (iv)suded # ¥ 31§ 78 None of above
() TRa H A TR WR P BRYT AT &
Which of the following is not the cause of law public health in India.
(i) s=a®r A AferRar Over population (ii) o faarg  Child marriage
(iii) v== i@ wr High standard living (iv)faemed) @me vert Adulterated foods
2. frefafaa ag—swrdy wwl & Iar AR 2x5
Answer the following short-answer type questions:
(a) 9T § SFifp Slfwst & T B B 9§
What are the sources of demographic data in India.
(b) SHIfF Hpaor F 39 T FFs £
What do you understand by demographic transition.
(c) wra ¥ g # fvwer @& SR IaEy |
State the causes of disparity in sex-ratio in India.
(d) g fafre g X F TwEEy |
Explain age specific fertility rate.
(e) Ry 97 < 7w 2|
What is infant death rate.
wWvg / Section-B
ffafea dd sl et @ Sar AR 12x5
Answer the following long answer type questions:
5918 / Unit-1
3. 7Ra I faraha 2w & T=ifed @ &5 v 72w & fadaT Hifvr
Discuss the scope and importance of demography in developing country like
India.
sl / Or
S RIS g gar wAER 8 ? RWR ¥ wwsse |
What do you understand by population pyramid? Explain in detail.
@18 / Unit-11
4. e & ST FAETd @7 ST Tors IRIgT B |
Critically examine the Malthusian theory of population.
arfar/ Or
IS, 3, BIEfe & Rt a1 sreaa Hf
Study the Donald, Olen, Cowgill’s, views.
@18 / Unit-111
5. gorTRfierar | oMY g WS & WRG W 9% oW &Y & PR §aIey |
What do you understand by fertility? State the causes of high birth rate in India.
Jyar/ Or
SN o &R 9 o0 o1 TSI §? F IE U W B e giy @ w9l Ay 8,
I T A s uRum aTa R B fog I b waR @1 e fear o W 2|
What do you mean by crude birth rate? s it a correct measure of the population
growth of a particular place? If not, what rectification will you suggest to get
better result?

318 / Unit-IV
6. T # gorRieaT @ ygid Bl WHEIEL |
Discuss the fertility pattern in India.



st/ Or
AABIGT TS R A AT A T &P B T Gg [TRATST o P GHIIGT |
What do you understand by standardised fertility rate? Explain the gross and net
reproduction rate,

5318 / Unit-vV

7. Togp T R? T W F IR A 9o o # Fivrae @ oot @) w@Eey |
What is mortality? Explain the causes of decline in mortality rate in India at
present time.

Jyar/ Or
IERTT W T Y 87 ST U e ¥ sfv qney |
What do you mean by morbidity? Distinguish between morbidity and mortality.



